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הוא  ההצגה  הטריביאלי של H, תת-חבורה של חבורה G.אז
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 יש הצגה על  ידי מטריצות תמורות
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2. חשב  את לוח הקרקטרים של  GQ6 , מלוח הקרקטרים דל 
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Name: SO_4, GQ12

Size: 12

Type: GQ12

Group: <  a, b | a^4=b^3=e, b*a=a*b^2>

6 4

Series: [  a, a^2, b ]

List: 4

Character Table

SO_4

     2  2  1  2  1  2  2

     3  1  1  1  1  .  .

       1a 3a 2a 6a 4a 4b

    2P 1a 3a 1a 3a 2a 2a

    3P 1a 1a 2a 2a 4b 4a

    5P 1a 3a 2a 6a 4a 4b

X.1     1  1  1  1  1  1

X.2     1  1  1  1 -1 -1

X.3     1  1 -1 -1  A -A

X.4     1  1 -1 -1 -A  A

X.5     2 -1  2 -1  .  .

X.6     2 -1 -2  1  .  .

A = E(4)

  = ER(-1) = i

Nonlinear Orbits: [ X5, X6 ]
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